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Problemswithseqeq

① Model can repeat itself

Je fois un bureau ⇒ I make a desk

a desk a desk . .

.

RNN doesn't have a notion of
"

coverage
"

② fixed vocabulary

Elle est allée a- Pont- de - Bois ⇒ She
went to

decoder has / V1 wards in it UNK

(~ 30,000 )

No notion of
"

copy
-

paste
"



③ Bad at long sentences

translation

quaH#
Phrase - based

basic sealseq
model

sent length
Two reasons : ① T is a fixed size

② Long distances are hard in

LSTMS

(trick : reverse the input)
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Attention
4- I make a desk 4s >
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Je fois un bureau
<
IT mate a) desk

Je fois un bureau

This is a word- by - word translation

what if . . .

modify LSTM to take 2 inputs

Now it's
easy ,

scales to long sees

problem : not always word- by-ward
different parts of input may
be relevant

solution : softly pick where we look
intine input
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Then :
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Training : random init c-backprop
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